Monthly Test, November - 2010
Sub : Maths, Class : IX

Time: 40 Min. M.M :20
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Each question carries one mark.
(i} Find the ratio of Rs, 50 and Rs. 100
(ii)  Inwhich quadrant do the points (-4, 5) and (-1, -3} lie?
{iif}y Which of the following points lie on Y-axis.
(1.-2yand (0, -1)
(v)  Determine the class mark of the class interval 100-200.
(v)  Find the compound ratio of 2:3 and 6:8
Each question carries two marks,
i1} Find the mean proportional between 27 and 3.
(i) Solvethe equation: 2u- 5 = 3u-2
(iif) Determine whether x =2, y = 5 is solution of the equation
Sx+iv=4
OR
Find the median of the following data:
15, 35, 18, 24, 20, 25, 29, 17, 21
Each question carries three marks.

. J5+5-a
(i} Solvethe equation : ,I.___m..||..___m|ﬂ =3

(i)  Draw the graph of the equation x=4
(i) The following table gives the distribution of 10
(Intelligence quotient) of 60 pupils of Class-X in the school.

(0] G 0-70 |70-80  [BO-90 [90- 100 _m__u__ul-._.n__ 110-120
Mumber 3 4 a 18 15 14
of Pupils

Draw a Histogram.
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